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Simple Money Word Problem- Step-by-Step Lesson 

 

Marilyn has 4 nickels. Her friend gives her 1 quarter, 3 pennies.  

How much money does she have now? 

 

 

 

 

 

 

Explanation: 

Marilyn received new money. We need to add the two values together. 

We know that 1 nickel is equals to 5₵, 1 quarter is equals to 25₵ and 1 

penny is equals to 1₵. 

She has the following coins: 

4 nickels - worth 5 cents each for a total of: 20 cents 

1 quarter – worth 25 cents for a total of: 25 cents 

3 pennies- worth 1 cent each for a total of: 3 cents 

To find the total, we add all the values. 

20 cents  + 25 cents + 3 cents 

So the answer is 48₵. 

 


